DIFFERENCES BETWEEN HOW WESTERN EUROPEAN COUNTRIES WENT TROUGH THE DEMOGRAPHIC TRANSITION, AND HOW DEVELOPING COUNTRIES ARE CURRENTLY GOING THROUGH IT
European countries had smaller populations when they started their transitions (most under 10 million).  China and India started with ~200 million and ~100 million.
Natural rates of population increase in Europe were ~1% during transitions; 2-3% has been the norms for today’s developing countries.

European countries went through the transitions gradually; their technologies and cultures co-evolved somewhat.  Today’s countries have “received” key public health and medical technologies almost overnight, as largely rural societies.  Thus, the fertility transition is more abrupt, difficult.
Many Europeans emigrated to depopulated areas of abundant natural resources, especially land (eg. colonized Americas, Australia).  Today’s world has no such resource abundant frontiers.
Emigration from Europe was escape valve for 10-20% of populations at certain points in 1800s.  China & India sending 10% of their ~2.7 billion people is not an option.

(any takers for 270 million?)
